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Divide 52 internally at 4 and n.xa_.:u:w at A’ such that _

" Let 0 be :.o Ba._uo:: of ?& Ea _2 \K\

A+ mo.+ SCTac= A; .5 ™
’ 25C = 2ae
.. C8'%= ae (in length)

SA'~SA=clz4' - 4Z]
\i. =e[CA.+. 2C - (40 - 20)] .
3 2a = 202 K
i Q.N. =2
e

respectively. .?2.. ;

PM = 2N CN-CZ=zx |.|

m:_oo \u isa vo:: o:. the - hyperbola,’

E% = %E:N

. lm.nvn.+ﬁula T_......Ju

e

H?wrfi...m_%w..;m_.

..a.u_+an —2z a«..reuﬂanuu.rnnlnu‘ﬁ..m.. ook
- e, a u?.;vln? =N

a.s&:r by au? - C. io get -

e

ma UBE cY vo_.vo_a_n..._u.. 0 Q;. ._.u_a QN u.a;s‘ s

IAS. (MyMatiis/it - 48

.. Take any point ﬁ?_«sv .on_the __Sﬁao_u.. Draw P, vz ﬁn:a_a_n:_»_. 1o ‘the directrix and z-axis




